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CCNP SWITCH Chapter 3 Exam Answers (Version 7) — Score 100%

How to find: Press “Ctrl + F” in the browser and fill in whatever wording is in the
guestion to find that question/answer.

NOTE: If you have the new question on this test, please comment Question and
Multiple-Choice list in form below this article. We will update answers for you in the
shortest time. Thank you! We truly value your contribution to the website.

1. Refer to the exhibit. Which two statements are true about the switch CAT2? (Choose
two.)

CAT2%# show vlan

YLAN Name Status Ports
1 default active ra0/1, Fa0/2, Fa0/3, Fa0/4
"a0/5, Fa0/6, Fa0/7, Fa0/8

Fa0/9, Fa0/10, Fal/11, Fa0/12
"a0/15, Fa0/16, Fa0/17, Fa0/18
Fa0/19, Fa0/20, Fa0/21, Fa0/22
ra0/23, Fa0/24, GiQ/1, GiQ/2

Peol |
2 VLANDODZ active
3 VLANDDO3 active '
4 VLANDOO4 active
5 VLANDOOS active
100 VLANDLOO active
110 VLAND11O active
1002 fddi-default act/unsup
1003 token-ring-default act/unsup
1004 fddinet-default act/unsup
1005 trnet-default act /unsup

= Eleven VLANs were manually configured on the switch.

= Six VLANs were either manually configured on the switch or learned via VTP.*
» Interfaces Fa0/13 and Fa0/14 are in VLAN 1.

= Interfaces Fa0/13 and Fa0/14 are in an unspecified VLAN.

= VLAN 100 is in dynamic desirable mode.

= VLAN 100 has no active access ports.*

https://itexamanswers.net/ccnp-switch-chapter-3-exam-answers-version-7-score-100.html



https://itexamanswers.net/ccnp-switch-chapter-3-exam-answers-version-7-score-100.html
https://itexamanswers.net/ccnp-switch-chapter-3-exam-answers-version-7-score-100.html

[ E)r;amﬁmswersI
.Nne

2.

4.

Computer Networking Tutorials-Labs-Tips, Exam & Answers
for Student & Beginners

Refer to the exhibit. Switch1l and Switch2 are unable to establish an operational trunk

connection. What is the problem between the connection on Switchl and Switch2?

ﬁho "13 Fa0/13 ﬁ

Switch1# show running-config interface Fastethernet 0/13
Building configuration...

Current configuration : 110 bytes
!

interface FastEthernet0/13
switchport trunk encapsulation dot1q
switchport trunk native vian 50

no ip address

end

Switch2# show running-config interface FastEthernet 0/13
Building configuration...

Current configuration : 94 bytes

'

interface FastEthernet0/13
switchport mode dynamic desirable
!

end

encapsulation mismatch

switchport mode mismatch

MTU mismatch

VTP mismatch

DTP mismatch

native VLAN mismatch*
Which three effects does the interface command switchport host have when entered
on a switch? (Choose three.)

sets the switch port mode to access*

enables BPDU guard

enables spanning tree PortFast*

enables root guard

disables channel grouping*

enables BPDU filtering
When configuring an EtherChannel, given that one end of the link is configured with
PAgP modedesirable, which PAgP modes can be configured on the opposite end of
the link in order to form an active channel? (Choose two.)

off
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= on
= desirable*
= auto*
5. What is a best practice for VLAN design?
» Local VLANs should not extend beyond the distribution layer.*
*= Place unused access ports in trunk mode and in a specific VLAN.
= No more than three VLANSs should be trunked to core layer switches.
= VLANSs should be designed in a hierarchical fashion with access VLANSs at the access layer
and local server VLANSs at the core layer.
6. Refer to the exhibit. Given the configuration information of the CAT1 and CAT2

switches, which statement is true?

Gi 071 Gi 01
Gi 02 Gi 012

CAT1# show running-config CAT2% show running-config
<Qutput omitted> <0utput omitted>

1 1
interface port-channell interface port-channel2

no ip address no ip address

Sawitchport awitchport

] S

interface gigabitethernet 0/1 interface gigabitethern=t 0/2
no ip adcress no ip address

switchpoxt switchport

channel-group 1 mode active channel-group 2 mode active
1 1

interface gigabitethernet 0/2 interface gigabitethern=t 0/2
no ip address no ip address

switchport switchport

channel-group 1 mode active channel-group 2 node active
1 1

<Qutput omitted> <Qutput omitted>

= LACP will form a channel between the switches.*

= Because the port-channel numbers do not match, LACP will not form a channel between
the switches.

= Because the channel-group commands on SW2 should be set to “on,” LACP will not form a
channel between the switches.

=  LACP will form a 200-Mb/s channel between the switches.
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7. Refer to the exhibit. Which option correctly describes the function of a switch that is

configured in VTP transparent mode?

Option Description
create, modify, and delete vVLAMs and gpecify other configuration
1 pararmeters such as VTP wersion and VTP pruning for the entire VTP
domain
advertise YTP configuration parameters, such as TP version and
2 YWTP pruning for the entire % TP domain but cannot create, modify,
and delete VLANs
advertise and synchronize the VLAMN configuration to other switches
3 in the same /TP domain based an the VTP advertisements received
but cannot create, change, or delete YLANSs
forward WTP advertisements that they receive over the trunk ports
4 but do not advertise and synchronize their “/LAN configuration based
on received advertisements
do not forward WTP advertisements that they receive over the trunk
5 ports and do not advertise and synchronize their VLAN configuration
based on received advertisements
option 1
option 2
option 3
option 4*
option 5

8. Refer to the exhibit. Given that no VLANs have been deleted, what can be concluded

about interface Fa0/7?

DLE1# show vlan brief

VLAN Name

10 VLANOD10

20 VLANOD20

1002 rfddi-default

1003 token-ring-default
1004 fddinet-default
1005 trnet-default

Status

active
active
act/unsup
act/unsup
act/unsup
act/unsup

Fald/i, Fal0/2, Fal0/3, Fald/d
Fad/s5, FalO/e, Fa0/9, Fal/10
Fa0O/13, Fa0O/14, Fra0/15, Fad/16
Fad0/17, Fa0/18, Fa0/19, Fa0/20
Fad/21, Fa0/22, Fa0/23, Fal/24
Gi0/1, Gio/2

It is not configured.

It is shutdown.

It has the default administrative mode.

Itis atrunk port.*
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9. Refer to the exhibit. Both SW1 and SW2 are configured with the PAgP desirable mode.

Which statement is true?

Fa 0/1

Fa M

Fa 0/2

Fa0/2

Both switches will initiate channeling negotiation and will not be able to form a channel.

Both switches will initiate channeling negotiation and will form a channel between

them.*

Neither switch will initiate channeling negotiation and will not be able to form a channel

between them.

Neither switch will initiate channeling negotiation but will form a channel between them.

10. Refer to the exhibit. All switches in the VTP domain are new switches. Which switch or

server?

switches will receive and maintain the list for all VLANSs that are configured on the VTP

trunk

LU swi3

trunk

SW1lf show vip status
VTP Version
Configquration Rewvision

SU3# show vip status
VTP Version
Configquration Rewvision

Maximum VLANs supported locally @ Z55 Maximum VLANs supported locally : 255

Number of existiny VLANs s 2 Number of existing VLiNs

VTP Operating Mods : Server | VTP Operating Mode : Transparent
VTP Domain Name - LAR VTP Domain Name - LAB
<ouipwt omitted> <output omitted>

SWZf show vip status SU4g show vip status

VTP Varsion 2 VTP Version a2
Configquration Revision : 3 Configuration Revision : 3

Maximum VLANs supported locally : 255 Maximum VLANs supported locally : 255

Number of existiny VLANs
VTP Operating Mods

VTP Domain Name

<ouiput omitted>

- E;lmﬁ

: LAE

Number of existing VLiNs
VTP Operating Mode

VTP Domain Name

<ouwtput omitited>

: L;l ent

: LiB

SW2

SW4*

SW3 and SW4

SW2, SW3, and SW4

11. Which two items are benefits of implementing local VLANs within the Enterprise

Architecture? (Choose two.)

A single VLAN can extend further than its associated distribution-layer switch.
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= Failures at Layer 2 are isolated to a small subset of users.*
» High availability is made possible because local VLAN traffic on access switches can now
be passed directly to the core switches across an alternate Layer 3 path.
= Layer 3 routing between VLANSs can now be applied at the access layer.
= Local VLANSs are limited to the access and distribution layer.*
12. In the context of the Enterprise Composite Architecture, which statement is true about
best-practice design of local VLANs?
= Local VLAN is a feature that has only local significance to the switch.
= Local VLANs do not extend beyond the building distribution layer.*
= Local VLANs should be created based upon the job function of the end user.
= Local VLANSs should be advertised to all switches in the network.
13. Which two VTP parameters must be identical on all switches in the network in order to
participate in the same VTP domain? (Choose two.)
= VTP domain name*
= VTP revision number
» VTP domain password*
= VTP server mode
= VTP client mode
= VTP transparent mode
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14. Refer to the exhibit. What statement is true about the switch port?

Switch1# show int g0/1 switchport

Name: Gig0/1

Switchport: Enabled

Administrative Mode. dynamic auto

Operational Mode™ static access

Administrative Trunking Encapsulation: dotlq
Operational Trunking Encapsulation: native
Negotiation of Trunking: On

Access Mode VLAN: 1 (defaulf)

Trunking Native Mode VLAN: 1 (default)

Voice VLAN: none

Administrative private-vlian host-association. none
Administrative private-vian mapping: nona
Administrative private-vian trunk native VLAN: none
Administrative private-vlan trunk encapsulation: dot1q
Administrative private-vlan trunk normal VLANs: none
Administrative private-vlan trunk private VLANS: none
Operational private-vlan: none

Trunking VLANs Enabled. ALL

Pruning VLANSs Enabled: 2-1001

Capture Mode Disabled

Capture VLANs Allowed: ALL

Protected: false

Unknown unicast blocked: disabled

Unknown multicast blocked: disabled

Appliance trust: none

The port is not in trunking mode.*

The port connects to a VolP phone that has a PC attached.

The port can carry data from multiple VLANS if pruning is disabled.
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The port will be disabled if the current device is unplugged and a second device is

attached.

The port has manually been placed into trunking mode and is using the 802.1Q trunking

protocol.

15. Refer to the exhibit. What would be the result if a new switch with a default

configuration is inserted in the existing VTP domain Lab_Network?

SW1# show vtp status

VTP Version. 2

trunk Configuration Revision: 27
Maximum YLANS supported locally: 1005

Number of existing VLAMNS: 5

trunk VTP Dperating Mode: Sener

VTP Domain Name: Lah_Metwork

VTP Pruning Mode: Enakled

VTP V2 Mode: Disabled

YTP Traps Generalion: Disabled

D5 digest 0x45 0452 D3B8 03D 0353 (xCE 0x49 0«80
Configuration lasimodified by 0.0.0.0 at 8-10-07 15:04 .49

SW1#
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» The switch will operate as a VTP client.

» The switch will operate in a VTP transparent mode.

» The switch will operate as a VTP server and will delete the existing VLAN configuration in
the domain.

= The switch will operate as a VTP server but will not impact the existing VLAN
configuration in the domain.*

16. Refer to the exhibit. What will happen when switch SW2 is added to the network?

3W1l# show vitp status $W3# show vip status

VTP Version: 1 | VTP Version: L
Conficuration Revision: 47 | Conficuration Revision: ar
Maxiwm VLAN2 supported locally: 1005 | Maximem VLANa supported locally: 1005
Nunber of exlscing VLANS: 33 | Nunber of exlsting VILANS: 33
VTP Operating Mode: Serwer | VTP Operating Mode: Client
VTP Domain Naue: LABL | ¥WTP Dowain Naue: LABL
corbpul omiited> cortput omilted>

3ZZ <show vip status 242 <how vip status

VTP Veraiom: 2 | VTP Veraion: L
Configuration Revision: 0 | Configuration Revision: 47
Mawiwmm VLANs supported locally: 1005 | Maximum VLille supported locally: 1005
Munber of existing VLANa: L0 | Nunber of existing VLAN=: 33
VTP Dperating Mode: Transparent | VTP Operating Mode: Client
VTP Domain Haws: LiB2 | VTP Donaln NHawe: LiBl
<output omitteds <output omitteds

= Switch SW2 will change the VTP domain name to LAB1.
= Switch SW2 will automatically change to VTP server mode.
= Switch SW2 will delete all existing VLANs and introduce new VLANS in the VTP domain.
=  Switch SW2 will drop all VTP advertisements and will not propagate them through
the VTP domain.*
= Switch SW2 will include its own VLANSs in the total number of VLANs configured in the VTP
domain.
17. Which two statements are true about the 802.1Q trunking protocol? (Choose two.)
= Untagged frames will be placed in the configured native VLAN of a port.*
= |tis a proprietary protocol that is supported on Cisco switches only.
= Private VLAN configurations are not supported.
= The native VLAN interface configurations must match at both ends of the link or
frames could bedropped.*
18. Refer to the exhibit. Switch SW2 was tested in a lab environment and later inserted into
the production network. Before the trunk link was connected between SW1 and SW2,

the network administrator issued the show vtp status command as displayed in the
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exhibit. Immediately after the switches were interconnected, all users lost connectivity

to the network. What could be a possible reason for the problem?

SW3
trunk
| SW4 |
SW1# show vip status SW2# show vip status
VTP Version: 2 VTP Version: 2
Configuration Revision: 47 Configuration Revision: 147
Maxirmunm VLANS supported locally. 1005 Maxirnum YLANS supponed locally. 1005
Number of existing VLANS: 254 Number of existing VLANS: 5
VTP Operating Mode: Server VTP Operating Mode: Chent
VTP Domain Name: Lab_Metwork VTP Domain Name: Lab_Network
VTP Pruning Mode: Enabled VTP Pruning Mode: Enabled
VTP V2 Mode: Disabled VTP V2 Mode: Disabled
VTP Traps Generation: Disabled VTP Traps Generation: Disabled
MD5 digest: 0x45 0x52 0xB6 OxF D 0x63 OxC8 0x49 0x30 MD5 digest: 0x65 0x72 0xB6 OxCD 0xB3 0xC8 (x79 0x84
g&n{mraam lastmodified by 0.0.0.0 at 810-07 15:04:49 | Configuration lastmodified by 0.0.00 at 8 12-07 17:04.53
+ SW2E

= Switch SW2 is in the wrong VTP operating mode.

= The SW2 port GO/1 is in access mode by mistake.

= Switch SW2 has the pruning eligible parameter enabled, which causes pruning of all
VLANS.

= Switch SW2 has a higher VTP revision number, which causes deletion of the VLAN
information in the VTP domain.*
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19. Refer to the exhibit. How should SW2 be configured in order to participate in the same

VTP domain and populate the VLAN information across the domain?

5Wl¢ configure terminal
SW1l(config)# vtp mode =server
SWl{config)# vtp domain Lab
SWl(config)# vtp password admin
3Wliconfig)# vtp version 2

SWl iconfig# end

5W3# configure terminal

AW3 (config)# vtp mode server
AW3 (config)# vtp domain Lab

SW3 (config)# vtp password admin
A3 (config)# vtp wersion 2

A3 (config# end

= Switch SW2 should be configured as a VTP client.
= Switch SW2 should be configured for VTP version 1.
= Switch SW2 should be configured with no VTP domain password.

» Switch SW2 should be configured as a VTP server with a higher revision number.*

20. What are three characteristics of a VLAN access port? (Choose three.)

= A switch port can become an access port through static or dynamic configuration.*

= An access port is associated with a single VLAN.*

= An access port should have the 802.1q encapsulation associated with it.

» An access port created with the switchport mode access command will send DTP frames

by default.

= An access port is created with the switchport mode access command and then

associated with a VLAN with the switchport access vlan command.*

= The VLAN that the access port is assigned to will be automatically deleted if it does not

exist in the VLAN database of the switch.
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